> HK SERIES

SHORT TYPE ROTATING HYDRAULIC
CYLINDERWITH THROUGH-HOLE AND
SAFETY DEVICE

B, XFLEMEMEHELE, 2RERMEREN2/3,

PR B B S R R T R R

ZRFUIEEERE.

Super short form,light weight large Through-Hole,just as 2/3 of typical
model length.

Built-in safety check valves and pressure relief valves.

Forward and backward choose a fixed installation.

W1

l LSRR s
Mounting Hole
ﬁ- [EY
3| 3 e A i
2-PTC3/8
AL B — N
Pressure Port = EE
I G2
6-M10x20
H- TR 09Z8/6-H8x15
Gl
Y 11
Drain Port
o |
K
#8144 Spec TEE M Eff.piston area cm’ BT . %pjecrguﬁ'lﬂg%r?ssure a0, o R 8 (ko)
4 Model Ml Extend  #iffl Retract maxr.p.m MPa(kgf / cm?) kg m Lit./min. Weight
HK-0928 53.2 50.5 8000 3.5(35) 0.03 2.0 5
HK-1036 70.7 62.8 8000 0.05 2.5 7.4
HK-12486 99.1 88.0 7000 0.06 3.0 9.7
HK-1246(S) 99.1 88.0 7000 4.0(40) 0.06 3.0 9.7
HK-1552 135.3 125.0 6500 0.1 3.9 11.8
HK-1875 179.5 163.5 5000 0.24 4.2 21.5
HK-1875(S) 179.5 163.5 5000 0.24 4.2 21.5
<k Size E G1 G2
e Model A ] C D h7 F k. iR mER min H J K L1 L2 M1 M2 M3
HK-0928 90 126 100 108 80 40 10 23 13 53 88 131 M8 x 60 14 M33x1.5 25
HK-1036 105 142 115 125 100 48 15 25 10 65 94 150 M8 x70 14 M42x1.5 25
HK-1246 125 165 140 120 65 15 38 23 68 96 153 M8x 75 15 ME5x2 25
HK-1246(S) 125 165 130 147 100 65 15 0 38 23 68 96 153 M8 x 75 15 M55x2 30 15
HK-1562 150 185 170 165 130 70 20 37 17 73 110 164 M8 x 75 15 M60 %2 30
HK-1875 175 215 190 190 160 95 25 46 21 84 131 181 M10x90 20 M85x2 35
HK-1875(S) 175 215 190 195 160 95 25 46 21 84 131 181 M10x90 20 M85x2 35
<tk Size 01 02 R
T Model N1 N2 (0] H8 HE P Q1 Q2 a7 T U Vv W1 w2 X1 X2 Y1 Y2
HK-0928 M34x1.5 25 PT1/4 30 28 89 7 28 32 65 86 63 80 43 M4x8 76 M4x7
HK-1036 M44x1.5 28 PT1/4 38 36 104 7 34 42 73 98 66 106 54 M5x8 83 M5x6
HK-1246 M52x1.5 24 PT3/8 50 46 106 7 36 50 0 116 79 119 63 M6x8 98 M5x6
HK-1246(S) M52x1.5 24 PT3/8 50 46 106 7 36 50 90 116 2 79 119 63 M6x8 98 M5x6
HK-1552 M58x1.5 25 PT1/2 55 52 113 8 40 586 97 128 82 133 72 M6x8 110 M5x6
HK-1875 M84x2 30 PT1/2 80 75 126 10 46 81 125 163 98 160 98 M6x8 155 M6x8
HK-1875(S) M84x2 30 PT1/2 80 75 126 10 46 81 125 163 98 160 98 M6x8 155 M6x8

REHEAERAMES, BRAB{TEM Subject to technology changes without prior information
A H/ R ATAT# Non-standard requirements can be made

I31LVINO



